'L \ BIOLOGY (Theory)
COACHING Stratasr ( fagr=)
(314)
Time : 3 Hours | [ Maximum Marks : 80
9 : 3§ ] [ quii : 80
Note : (i)  This Question Paper consists of 30 questions.

(ii)  All the questions are compulsory.
(iii) Marks for each question has been indicated against it.

(iv) Each question from Question Nos. 1 to 8 has four alternatives (A), (B), (C)
and (D), out of which one is the most appropriate. Choose the correct
answer among the four alternatives and write it in your answer-book against
the number of the question. No separate time is allotted for attempting

multiple choice questions.
feer: () EWE-THH3THDI

(i) | A IfarE 2 |

(iii) THF T F 3HF IHF TEA U T L

(v) TS 991 FEH 1§ 8 TF, TIF WA H 9% a@icqs (A), (B), (C) R (D)
fe 4 ¥ o § w99 @ ity sfad B SR S@feas S § 9 WEl W
I a9 38 ST SW-gfEE § T FEiE % 99 fated | aEiTs vl
o otem & 9w Te1 fean s |

1.  Nitrogen fixation is the conversion of atmospheric nitrogen into : 1
(A) Amino Acid (B) Nitrates

(C) Ammonia (D) Ammonium citrate

EereH frerdiero w1 31df & agHeed AEgeE #1 frefafad fe T § s ?
(A) STHMT 3T (B) &L
(C) 3HIfTn (D) HIfEH HELe
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2. Bt .cropsare: 1
(A) Hybrid crops
(B) Transgenic crops
(C) Pesticide resistant crops
(D) Crops on which Bacillus thuringiensis forms gall

Bt, BEI BT © :

(A) HHR HYA

(B) URSIHT ®Ee

(C) dYiswHmel gfeieh wae

(D) & TS W aferg gRafaef~o fafes (gall) 9m 21

3.  Which of them is an Amphibian ? 1
(A) Salamander (B) Crocodile (C) Tortoise (D) Platypus
frfafaa § 9 S9-91 ts tfanfag gof § 2
(A) Fem=R (B) wfear (C) wHgaT (D) wifead

4.  Trisomy of 215t Chromosome is the karyotype in : 1
(A) Turner’s syndrome (B) Klinefelter's syndrome
(C) Transgenders (D) Down syndrome
219 U 1 IR fRE T o [OREET B et St § 2
(A) TR fagm (B) TEAHeR fagm
(©) st (D) == fegm

5. The sucker fish Remora often attaches itself to a shark. Pick the relationship they 1
exhibit :

(A) Mutualism (B) Parasitism
(C) Commensalism (D) Predation

RERT 195 9 HSe YTd: ¥ o SR 194 19! Toaest ol & 1 78 91¢ 5T 911 9egay
1 gfT

(A) HRITHIE (B) TSHfaar

(C) HevIfsa (D) TR
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6.  Fruits which develop from an unfertilised ovary is called : 1

(A) False fruit (B) Dry fruit
(C) True fruit (D) Parthenocarpic fruit
sAf e sterr & faswfaa wel i #ed €
(A) T HA (B) T w
(C) arafas wat (D) AfSFETT wA
7. The body covering in Euglena known as Pellicle is made of : 1
(A) Proteins (B) Peptidoglycan (C) Cellulose (D) Chitin
HfeAferer T 7 1 8-SR forgT a1 B 2
(A) R (B) UfeEreHEA () IgE (D) #FTEfea
8.  The inflorescence found in Coriander is : 1
(A) Corymb (B) Hypanthodium (C) Spike (D) Umbel
9f T & TR T YR B §
(A) wHRME (B) ®rdenfeay (C) =+ (D) Y=sA
9.  Expand the following abbreviations and state their functions : 2
(a) NAA
(b) 2,4-D
frfefa Gfafadi 71 T0-90 ffan st 0% S T -
(a) NAA
(b) 2,4-D
10. Define the following terms : 2

(a) Population

(b) Adaptation

fr=fafaa w=si 1 uftam fafag .
(a) HHE

(b) IR

11. Draw a neat diagram of a Nerve cell and label the following parts : 2
Cell - body; Axon; Node of Ranvier
T HITYhT 1 T FHifhd 3T IR 9o S0 Freafaraa 9l 1 JrHiftha iR -
Fifereh1-h14, e, Yemr #t gafy
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12. List the two ways by which acquired immunity may be brought about in an individual. 2

T Afd § suifsta gferen 57 € adtel F =t It € 3= gEaS S |

13. Briefly explain the basic procedure involved in the surgical methods of contraception 2
in human male and female.

%Y IR B § TRy w1 veafafeen fafidl 8 ffed qoa framonferst w1 Haa # saren
SIS |

14. State any two common symptoms of mineral deficiency in plants and name any two 2
minerals concerned with the deficiency in each case.
Seli Wi ¥ R € T e S S iR e e = @
Hefyd F1E g1 |isl & A9 FaRT |

15. Name two common fungal diseases in humans. 2

)
) Name one fungus and one alga which exist in symbiotic association.
)
)

o

el & =l S 9= Fashe= W & A6 a3y |

(a
(b) U FHash TN Teh 91 & 19 a0 S WER Fesie day § o1 9 € |

b

16. Expand the following abbreviations and state how are they useful in our day to day 2

life :
(a) CNG
(b) PNG

frefofes wfufal % [-3 7= fafay ot e fF 3 e 3 stam § e vor sean
g:
(@) CNG

(b) PNG

17. Draw a diagram of an experimental set-up of a potato-osmoscope to demonstrate 2
0SMOSIS.
T 1 UG¥H A & U 3976 Ay (potato-osmoscope) % T FANTHE He-379
1 ARG R |

18. State the two functions of Oxytocin. 3
Al % <1l 1 == Hife |

19. Distinguish between Monocots and Dicots. 5

Teha TS 2R fEeisros =il § 3 Jqsu |

I TTTEAMWHAWn ¢ conta..
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20. List any four functions of Proteins.

TR ¥ FE SR FE A geeg Hi

21. (a)
(b)

(a)
(b)

22. (a)

23. (@

(b)

Give the generalized balanced chemical equation of Photosynthesis.
What is the role of the following enzymes :

(i) Rubisco and

(i) PEPCo and where are they present ?

RT3l HYATOT o1 WTHIATSa Hford AT FHeRol Sifed |
frefafea demeH #t @ yftsw @ 22

(i) Rubisco #I

(i) PEPCo 3R 3 TSEH gl 9T I & ?

What are the two discoveries which made recombinant DNA technology possible
while experimenting with bacteria ?

Distinguish between an antigen and an antibody.

3 FA-9 3 ofaehr 3 Fer SemuEdi W 980 3 F SR AT DNA St
G € Hehl ?

wids @R wfdfds § S SRy |

With the help of a flow chart explain the Monohybrid cross with tall and dwarf
plants as performed by Mendel. Also state the phenotype and genotype ratios
obtained.

State the phenotype ratio of a Mendelian Dihybrid cross.
T YaE-918 1 Gl § TS g &d 3R S e W fohe 10 Tt F19 51 e
HITAT | IFh GRI T ALUIYEY 3R SIS STarl &1 ff == i |

TEel1g fgHa hid & TGS - 1 == I |

24. Draw a neat and labelled diagram of the Vertical section of the human Eye.
A 3 i SHHATER FE 1 W a1 THi(hd NG T |

25. Name the three major categories of plant tissues. How many different types of tissues
you have studied which can not be divided further ?
Tl % TG I TRl % Fesh! % A FAIST | 37 SAe] o fohar [REHl o Skl 1 ST
foran & it 3iR o1 faenfora & 2 2
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26. (a) Draw a double helical structure of DNA. 4
(b) Name the scientists who proposed this model of DNA structure.

(a) DNA & &l FHefer H=m a1 dE IR |
(b) DNA &l AT & 39 AISH i FEAEAT HIH dTct ATehi o ATH Ty |

27. (a) With the help of a flow chart describe the steps involved in the coagulation of 6
blood.

(b) Why is a person with blood group AB called universal recipient ?

(c) Name two heart related disorders.

(a) TH YAR-9R HI Te&al § wR-Thed 4 fafed fafu= =i =1 9o sifs
(b) ABERR-a 911 e 1 W S F1 Fad & 2

(c) 3 9 Hefyd 21 I F =18 FqE0 |

28. (a) What do you mean by sustainable development ? List any six activities which 6
will help in sustainable development.

(b) Expand the following :

i) IUCN
(i) CITES
(a) & ferehre | 3fqeRt 1 A19d € 2 TRl o foramsremdl =it = sy e 9aa farem
! Herarar faer |
(b) Tr=fafeas =1 qu-gu 9w fafa .
@ TUCN
(i) CITES

29. (a) Draw a neat sketch of a mature ovule in an angiosperm and label the following 6
parts :

Nucellus; Embryo-sac; Egg-cell; Definitive nucleus; micropyle; Integuments.

(b) Draw a neat and labelled diagram of a unicellular alga.

(a) U U uey & uRuga disie &1 w=s 3w IRy iR fr=afafeaa ari &
BICIER] aﬁﬁrq :
ST (JHAH), YUI-F, TS-FHIVF, T F5Fh, GeUgR, FAE

(b) THHIE e 1 W T AR NG FAT
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30. Name the disorders : 6
(@) (i) Painful inflammation of joints due to elevated level of uric acid.

(i) A respiratory disorder caused by excessive cigarette smoking and chronic
bronchitis.

(b) Draw a neat and labelled diagram to show the excretory organs in a cockroach.
(c)  Where in the heart are the following valves located :
(i)  Bicuspid valve
(ii) Tricuspid valve
fr=fafea faeri & 9 sarEy .
@) () I 37 H TR 9 9T & FRO W § Gor AT a9 9t g |

(i) TAfF YHIH & FRU B AT YTEA-Gae fawr qon fatwrt vaasreny |
(b) faerag & ISH-3T FI UM aTeT T W T AHifhd IRE =T |
() w3 ¥ frafafaa wue Fel from 8@ €

(i) fgaert wue

(i) TreerEt Fwue

-00o0-
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